Fake rate vs hit

Duplicates Rate vs hit

Pileup rate vs hit

@ 0.2 £0.02¢ =
= E = F = L
0n0.18 ©.018 0 |
> L > C >
3 E s F
Fo.16f f.o16F £ ol
%0.14;— g.014F s
E_ gmzz— QO.G-_
S 0.0 [
0.008F 0.4
0.006F [
0.004F 0.2
0.002F 3
o oo, o o YY) IS TIURT FRVET FUTEE PRPPL FUUTE RPN PO
g 12k :- g : g IR
o : o : o pees :
- o 1.2 : vy +‘Tﬂ'+#{++f++1'+++ +
PO SR TR 111 N N 5 N S S P S S SO T S i
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40 “0 5 10 15 20 25 30 35 40
track hits track hits track hits
—— DQMstep3_TT_CKF
[Fake ratevs i —— DQMstep3_TT_CKF-tok
"
................................... 3
.................................... 2
Q
)
o
___________________________________ >
ko)
____________________________________ a
o
T
o
25 20 25 09% 10 15 20 25

track layers

track layers

layer |

pileup rate vs pixel layers

0 1 2 3 4 5 6 7 8
track pixel layers

4

track 3D layers

3 4 5 6 7 8
track pixel layers

pileup rate vs 3D layers

Ratio

4 5 6 7 8 9 10
track 3D layers

Ratio

track layers

Pileup rate vs layer

1

0.8

0.6

0.4

0.2

0 1 2 3 4 5 6 7 8
track pixel layers

Pileup rate vs 3D layer

!

0.!

rQ 2 4 6 8 10 12 14 16 18 20
track 3D layers



	Contents
	Page 1


